1. Ordre des opérations Exercices supplémentaires

Exercice 1 Calculer:
1) 6 +4°> —%27-01 =

2) 13 +J9- (122 -2 .45 -3 - 12) =

Exercice 2 Calculer:
1) 4-4J25.3-3.(22-1) =
2)  (04)"-+410000 + 19° - 1*° =
3) ¥64-(67+22)-+108-3.

Exercice 3 Calculer:
1) (05)-Y1000+4(3-5) =
2) J121.4113-4° - (32 +3°) + 4

Exercice 4 Calculer:
1) 22.2°-2.(52-4%) =

2) (4 -4J16) 20 +1° - Jel =
3) (08 +06°) 4001+ 03 =

Exercice 5 Calculer:
1) 3 +1 (450 -5 -364)

2) 05° - 4°:4 -01 -10° +1 =

Exercice 6 Calculer:
1) V62 -5.7 +4°.(02%.10* - 10*): 10

2) (08 +1036) -6+ 4 =

N° 1

Solutions :
Ex1:1)21,7;2)301
Ex2:1)33;2)17;3)159,1
Ex3:1)34,5;2)45
Ex4:1)14;2)10; 3)0,19
Ex5:1)28;2)1
Ex6:1)31;2)119
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